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QUESTION 1

Before running lun setup on the storage system, you must first create the igroup to which the initiator will be attached. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 2

When migrating from Data ONTAP 7G to Data ONTAP 8.0 7-mode, existing non-traditional aggregates are designated
as ________. 

A. 16-bit 

B. 32-bit 

C. 64-bit 

D. Foreign 

E. Unknown 

Correct Answer: B 

 

QUESTION 3

In a tape environment after a SnapRestore reversion of a volume, incremental backup and restore operations on the file
or volume cannot rely on the timestamps to determine what data needs to be backed up or restored. Which course of
action ensures correct incremental backups? 

A. Perform a base-level backup of the volume after you restore it. 

B. Reboot the storage system to reset timestamps back to their original times before the reversion. 

C. Take a new snapshot of the volume to create new base-level timestamps for the incremental backup. 

D. Take a new snapshot of the volume to create new base-level timestamps for the incremental backup, and then
perform a base-level backup of the volume after you restore it. 

Correct Answer: A 

 

QUESTION 4

Node 1 in a clustered pair detects that it has lost connectivity to one of its disk shelves. Node 1 is still up, but it cannot
see one of its disk shelves. However, the partner node, Node 2, can see all of the Node 1\\'s disk shelves. Which
feature will cause Node 2 to monitor this error condition for a period of three minutes by default, and then forcibly take
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over Node 1 if the error condition persists? 

A. Auto enable of giveback 

B. Negotiated Fail Over 

C. Takeover on panic 

D. Cf.quickloop.enable 

Correct Answer: B 

 

QUESTION 5

A node\\'s FC port is performing a Fabric Login however, the N_Port ID is not being virtualized. What is a likely cause? 

A. NPIV was NOT enabled on the switch port. 

B. ALUA was NOT enabled on the switch port. 

C. ALUA was NOT enabled on the target port. 

D. NPIV was NOT enabled on the initiator port. 

Correct Answer: A 
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